7.4 Parallel and Perpendicular Lines
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PARALLEL LINES
Recall:  Slope is a measure of a line's steepness.

Consider the steepness of parallel lines.
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Parallel lines have the same steepness.
The of parallel lines are egual
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Parallel lines have
different

Two lines with the same slope and the same
y-intercept are at exactly the same location on
the coordinate plane - these lines are said to be




PERPENDICULAR LINES
Recall:  Perpendicular lines form right angles (90° angles).
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A horizontal line is perpendicular to a vertical line.

Example 1: The slopes of lines are given below. Determine the slope of any
line parallel to these lines and then determine the slope of any line
perpendicular to these lines.
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Example 2: The following are slopes of parallel lines.
Find the value of & given what you know about the slopes of parallel lines.
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Example 3: The following are slopes of perpendicular lines. Find the value
of kgiven what you know about the slopes of perpendicular lines.
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Example 4: Giventhe graphof 2x+ 3y-12 = 0.

a) Find the slope of any line parallel to the graph.

b) Find the slope of any line perpendicular to the graph.

Example 5: Determine the equation of the line that is parallel to

2
y= 3 X—6 and passes through (3, 1).

Example 6: Determine the equation of the line that is perpendicular to

1
Y= 3 x—1 and passes through (-6, -1).



Example ]: Determine the equation of the line that is perpendicular to
2y+x=4 and an x-intercept of -3.
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